Forces in 2D Practice Name:

1. Aperson pulls a 15 kg sled using a rope at an angle of 30.0° above the horizontal with 55
N of force. If the sled moves at a constant velocity horizontally through the snow what
is

a. The normal force acting between the sled and the snow?
b. The coefficient of friction between the snow and the sled?
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Forces in 2D Practice Name;

2 A 5500 kg helicopter is travelling at constant speed in level flight.

Rotor

What is the force F provided by the rotor?
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Forces in 2D Practice Name:

3. A 20.0 kg rocket is launched from Earth aimed 55° above the horizontal. The force
output of the rocket engine is 400.0 N. What is the acceleration of the rocket

(magnitude and direction)? Y
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